Aol Xad Y n(X) =17, n(Y) =23 3 nXUY)=38a82a a XNY) 2.

nX) =17, n(Y) =23, nXuwY) =38 dl nXnmnyY)=2?
nXuY)=nX) + nlY) —-nXnY)
L38=17+23—-nXnNY)
~nXnNnY) =40 - 38
~nXnNY)=2
Aol el Xuad YHz XU Yai 18 a@2s), X4i 8 @2s) dviad Y di 15 @es) &k, di X N Yai Sedi
g2s) &A ?
wél nXUY) =18, n(X) = 8, n(Y) = 15 dl
nXNMNY) =2
nXwY) =nX) + nlY) - nXnY)
18 =8+15-nXnNnY)
X nNY)=23-18
CrXNY) =5
L XA Y ML 5 Hea .
A G ol Sy T xR Sui 21 @es), THi 32 @25l v S N THi 11 €@es)l Q2a, A SU T #i
Sedi €@e2s) & ?
nS =21, n{T) =32, nSnT) =11

nSwrT) =1

nS U =nls + n(T) —-nENT
=21 +32-11
=53 -11
=42

Gl ol Xviad YAdl 8 S st Xai 40 €é12s), X U YHi 60 €251 3l X N Y#Hi 10 €251 &1L, o Y
Hi Sedi @es) & ?

uX) =40, X YY) =60, X nY) = 10

n(y) =12

nXuY) =nX + YY) - nXnNnY)

so60 =40 + n{Y) - 10

oo 60 = 30 + n(Y)

(YY) =30

400 clsadilcli ayeHi, 250 (Ec€] oldl a5 B Jia 200 2iAy oldl a5 8, d 32dl Qlsax (&<l
ol iy oidl 25 ? 400 Vs) €35 @Ulsd 1 A Vs] WoEi WNE] As o oddl a5 .
izl %, (&2l olldl asdl lsaxiidl aye = H
azsl (A% olldl asdl alsasidl d4e = E
MO 9 5, n{HUE) = 400, n(H) = 250,
n{E) = 200 n(HNE) = ?
n(HUE) = n{H) + »{E) - n(HNE)
o400 = 250 + 200 — n(H ~ E)
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~ n(H n E) = 450 - 400

~ nH N E) =50

oo (@l A vidle ol elldl At ddl alswiidl vl 50 9.

70 lsauileii i, 37 sig] wie 52 & VA 52 ulsdal A wRiE B. dall €35 Ulsd vi A Weriuizi
opi Ay As dlei wic 53 . Sadl @lsaui siS] V1A A 6ia wie 53 D ?

izl %, siSl s s AlsariAlL e = A
del Al ude selz ulsavli-l oLl = B
nAuwB) =70, n(A) = 37, n{B) = 52
n(AnB) =2
n(AuB) = n(A) + n(B) - nfAnB)
s 70 =37 + 52 — n(A v B)
" nlAnB)=89-70
“nlAnm B) =19
oo 5181 B AL ol Yrie s3-1R alsaniHl vl 19 9.
65 calsaxileti varii, 40 (532 wie s2 8, 10 (532 v 2o oial wRie s2 8. S2dl culsazi i et
wie $? 8, uid [5352 uwrie sl okl ? Sean 2ol wie 52 B ? 65 cilsau US| A ”lsa ok
ANl As Ud uRde 2 .
gzl 5, (352 ude sz oS-l 2. = A
dzll 2[Au wie sR sl e = B
n(AuB) = 65, n{A) = 40, n(AnB) = 10
nB-A) =2 nB =1
n(AuB) = n(A) + n(B) - nfAnmnB)
s 65 =40 + n(B) - 10
65 =30 + n(B)
~ n{B) =35
o2 ude seeun alSasiicl wva 35 9.
n(B - A) n(B) — n(An B)
=35-10
=25

w2y ude 53 uig (ie ue A sioddl alsasiddl wdva 25 ¢ 2(Mu ude s Alsavidl
Al 35 69,
As :AGiri 50 RIsaN Fa odd B, 20 Ao 6ld B Jia 10 UfSad cia Alcir Vi F2A Gia oA D.
sedl cifsauil il A einrMHRI N9R WG] s ol oddl 25 B ?
HIZL %, 39 olla-lz fSell = A

WA slaaz adfsasii-l 2. = B
adl, n{A) = 50, n(B) = 20, n(AnB) = 10

nfAw B =2
nAuwB) = n(A) + n(B) - n(AnB)
=50+ 20 - 10
=60

MUOHL 24l 25 ouny oflell ud ddl eulsavi-dl dvul 60 ©.

sld As adwi 20% ardl sR GRI, 50% adl oA GRL Vel 10% ddl SR VA GRA Gid GRL YA
$? 9, dl S2dl avdl sR VA oA GRI HRAISI A ?

60%

100 (GenRilRAoi adfi 55 (Gl 21fGiaHi wikn 2Rl 8. AR 67 [@enilAl cllldasuzdi uRl a1 8. A
(D) VS NP NO1 A5 (I UIRL 2AcliRedl 2ivaal 100 &1 dl Ht GlllcasAwRAHL URL AciR [enRiluoil
pvan Andl.
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14.

45

As ARl 1000 1élNcll As Aveildi €35 el dvRAdl vaal (Ec€l old B. du 50% 28l (Ec€]
old 8 a2 70% 28lel IwRidl old B, dl cid el older el esiail Sedl ?

20%

As i 20 Bizis) 8. @ sftia vadl dlldaslAsict eend 9. duHiel 12 Bizis) aibid eend 9. oRAR

4 Zrz1s) oitia da dlaslsiet 6ial eend 8. dl Szar 12is) ellasfAsie eenadr & ?
12

alel A di 3 =2s) viddl 8. AR 21 Bui 6 €@2s) diddl 8. dl A U B i vlopii 91 Sedl €2s) ald
a5 ? adl, A U Baui agui ag Seal @2s) &ld as ?

6, 9

As A8 840 fsaxuduizll 450 uUlsal (@€l diRil 215 8. 300 ilscail iy diil 25 8 Jiad 200

lfsas ciad diil 215 8. dl cidui2ll Asuel dizil o 215 Adl ilsauel zivan And).
290



